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1. Curcuma longa is the scientific name of which spice? & &’ #11 & Far &7 dfas am g7
(1) Cuminl/sh (2) Clovesfate (3) Turmeric/g®d!  (4) Coriander/erSra

2. Bones found in the hands and feet as the percentage of total number of bones in the body of an adult

human being is nearly equal to/ames AT #1 g1t 3R W 3B H o Aem £ w9 w9 weg
& FIHT e vy T &2 (1) 20% (2) 30% (3) 40% (4) 50%

3. Europeans are believed to have brought potatoes to India in the 18" century. Which region of the world js
believed to be the origin of potato cultivation? eRedt ¥4 # 7w & i e, # B sma wE A

TR T & oy ay & I A Tl RFRT §8?  (1)Eastern Ghanalqdt a1 (2)Southern PerufefarT a5
(3) Portugal/geiarrer (4) West Indiesia¥e g2
4. Oymyakon is generally considered the coldest inhabited area on Earth. Which country Oymyakon is located
in? FAFAG: fva 1 waR @ wen faw 89 A Gy F B
(1) Mongolia/mmfara (2) Russial=@  (3) Greenland/iftaatz (4) Iceland/amsads
5. Which gland in the human body is also known as the “third eye"? T A 9 @ 9 Y wnw v D
"Rt @ wE S 87 (1) Pineal/ffamw (2) Pituitary/Reged (3) Mammary/=d (4) Tear gland/3ry ufy

6. Leukaemia is a group of cancers that usually begins in the bone marrow and results in high numbers of
which abnormal cells/eq#a1, % varR & $3 &1 = A% ¢ A wewween A m‘ﬂm%aﬂ;m
I FEA F TF HOwt F1 @ G S | TR @ F0F # 82 (1) White blood cells/d

FTO1HT (2) Red blood cells/aTe @ #firs (3) Platelets/~steeiza  (4) All of theselgsft
7. During an earthquake, two places ‘A’ and ‘B’ record its intensity on Richter scale as 4.0 and 6.0, respectively.
In absolute terms, the ratio of intensity of the earthquake at ‘A’ to that of ‘8’ is/ t% HFT & G Q) Tl A

HR B T, Ry &9 W 37 eltaan v 4.0 3K 6.0 Ravs By s 31 gy w9 & A 3K B & ®
HF9 B e F e 7= (1) 2:3 (2)7:8 (3) 141:173 (8) 1:100
8.On a cold day in January, the temperature at a place fell below the freezing point and was recorded as 40
Centigrade. On Fahrenheit scale, the same temperature would be/s=radl #1g # & &2 A 1 awaw 0° &
ﬁmmmﬂmwmmw| GRAIE 98 # TF Thwd wiged g
{i} "25 ; (i)-ﬁ“:t! (3)-40° () -72°F
7l Gas Constant, R, is a p ';M e s R, g7 & gt a9

named after Satyendra Nath Bose, an Indian Physicist.
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. ; A% HEuTE e &8
mﬂmﬂmmm#mﬁwﬂ ¥? (1) Jagdich Chandra BoselSIadtel 9%
(2) P.C.Mahalanobis/dt & Fgraatf@s (3) Praful Chandra Rav”g‘?ﬁ'-r O% T [:Fnﬂ;lghn:dn sahalf#fa=TE HIE

12. To which place Aryabhata, the great mathematician, Went for advanced studies? g oI HEAHE I=d
fBren & AT 3298 ¥ By T 9T 71T A2 (1) Takshashila/aariray (2) PatliputralaTeeIg=
(3) Kashiraaft (4) Kaushambif@teara

13. The development of the world's first practical design for an Inter-Continental Ballistic Missile, AS/10, was
undertaken in Nazi Germany during the World War Il. It was intended for use in bombing/faa ¥ dge Hal
Feedfia Afdfees Frade A910 #1 wrew ey wefl FHA A afrchy fra g ¥ Show RsfEa B e
=8 P 2 o aAE & fAw wg+d g=1 4r? (1) London and other coastal cities of Britainfeig=r @ e &
¢/ WE0 9 (2) Northern cities of France, including VeniceT& & 3caft wgx, dfaw wfa 93 (3) New York
and other American cities/=gaTH & 3= ¥ARE 20 T (4) Interiors of USSR to cut off military supply lines
to Moscow/Fg#d FF F Ml wexl £ swlE arqgfd Favg w31 8
14. Homi Jahangir Bhabha, the father of Indian nuclear programme, was also the founding director of which of
the following institutes?/gfl STEElT stem, s & AR wsew & ™, 97 & g @EUE & FEATH
fZers sft &7 (1) Tata Institute of Fundamental ResearchieTer Hifd® yaq@u @¥a=  (2) Indian Institute of
Science, WRAT s TEWH  (3) Indian Institute of Technology, Mumbai/sea stefarhr FET=, e
(4) Saha Institute of Nuclear Physics, Kolkata/amgr afida sifah weama
15. Who headed the Satellite Launch Vehicle [SLV) project launched by ISRO in 19702/'5EAr & Hedge A>A
SEIFe (SLV) e T 9°H 1970 #H FEF Aqea # game?

(1) Dr. Vikram Sarabhai/s).f@s® oS (2) Or. K.Radhakrishnan (e R s ]

(3) Dr. A.P.J.Abdul Kalam/s1.0.f1.37.37eg e Fe15 (4) Dr. G. Madhavan Nairl sSLSfLATNES ATET

16. Where was Bhaskara, also known as Bhaskaracharya or Bhaskara |,

astronomer, was born? | WREE Tfas a sHfam, atewT, Bres sTeRUETE 4@ ATER-I F A | M S
ST &, FT A=H FEl gHT UT? (1) Kanchipuram/=T=gL#H (2) Thanjavurfdsay

(3) Bijapur ffasTaT (4) Maduraifﬂw
17. The BrahMos, a short range supersonic cruise missile, is a joint venture between which foreign country and
Indian agency? FUTETF Ho WA, sEAw, e 2w Ik e HRAT FEUH F TG+ 998 d AsfAa gam

(1) USA & ISROMEET T 58X (2) UK & ISRO/g&F T 33
(3) Russia & ISRO/FH d FHU (4) Russia & DRDO/FE @ StHSIHT

18. If the sum of 60% of a fractional number and the number’s square root is 5 greater than one fifth of the
number, then the number isfafe frfl B & F1 60% 38 &1 § aAA & 3 15 &1 7 5 wfos §
ar ag ¥&ar #41 g7 (1) 6.25 (2) 0.25 (3)12.25 (4) 2.25
19. If ‘Head’ appears consecutively in the first three tosses of a fairflunbiased coin, what is the probability of
‘Head’ appearing in the fourth toss also? a7 v FeOTERRT @sF ) smar fi9 ax 3o 9w [ +1
‘¥ F9T wraT g, A IR AR IS W O¥S e F1 F= @daan gtz (1) 1/8  (2)7/8  (3)1/16  (4) 1/2
20. Archers ‘A’ and ‘B’ take aim at a target. If the probability of ‘A’ hitting the target is 90% and of ‘B’ missing
the target is 90%, what is the probability that both ‘A’ and ‘B’ miss the target? a1 dRgrs A 3 B U# &89 o
e aa 1 afX A 1 F&T AgT @3NEaT 90% # IR B F waw sey Y wwarasr 90% oAt A ik B Y
wET A N U= T FIFA @A F41 gEf? (1) 90% (2) 09% (3) 01% (4) 81%
21 A man sells an article at a certain price incurring 20% loss
he would have earned 20% profit. WH:t was the cc:t priﬁé:-;;;;;?;i:a:r;:::;h;a% azr:]i:‘:e;g E:.l;gﬂm;:;

#1 3t aft avg 20 ¥ ¥OF Fqew o N IR A WET B 20% :
(1)Rs.20 ~  (2)Rs.40 Bimss0 (4) e 0@ W SW a5 W AT o an?

an Indian mathematician &

22 |f 12 persons working 12 hours a day dig 12 meters of a tun : :
- dig additional 04 meters of the tunnel (of the same dimensiun';*’g'i:’«eizt :::ri,h?;:u:v I:rl n;the:ue:;ear:gm:zf ;;j
days? @R 12 yra, 12 R 12 62 &9 F & TH G B 12 shey g% @ § ok len il
Mex R @ ¥ e P T NG ST T AR TE B R 4 Rt A By e 12
(1) 27 (2) 4 (3) 12 (@) 36 i A B




23. With which objective, CR Das and Motilal Nehm tormed the Swaraj Party within the Congress? MaEw
va ardfrae awE A Farw & oy T ardl R g srew & &A% M7 (1) Spearhead the mass struggles/S=

it 5 s A 52 ) e it im unity/Rg ATEH wH # 7@ HE ¥G 3.participate

: = codd
24. In a triangle'ABC, one of the angles is average of the remaining two angles. Which of the following is

always true about the triangle ABC? ﬁ‘nim ABC & gx ®VT I Q) =i ® 3taa 15w B & R, Ce
& #l4 ®ua gHAT TF 87 (1) ISDh[EIESIrianEtﬁjqﬁHﬂi@ EES (2) Equilateral trianglelF#aTg P
(3) One of its angles measures 60° 3w &) v H 60° ¢ (4) Right angled trianglefa@®er fF¥s

25. If the area of a circle ‘C’ is equal to the area of 3 square 'S’, then the ratio of the square of the perimeter of
‘C’ to the square of the perimeter of 'S’ is nearly equal tolgd C BAET a7 S ¥ aAed & 47w £ C W
qﬁﬁﬁéﬂiﬁ‘f}ﬂ?ﬁﬁﬂﬁﬁ%ﬂaﬂmyﬁmﬁ,fgawﬁﬁ?ﬁﬁﬂﬁﬂﬂﬁm

(1)22:7 (2) 11:14 (3)88:7 (a)1:1
26. The last digit of the number 37" is/mar 3705 & sifyw 3% # ePm? (1)1 (2)3 (3)5  (8)7
27. What is the squareroot of 49%7? 49% %1 aftyg Fm gwn? (1) 0.7% (2} 7.0% (3) 70% (4) Undefined/xfafiaa
28. Log (40°-20%) is equal to/dETA® (40°-20°) & qyy s@d &4 87

(1) log 3 (2) log 60 + log 20 (3) log 40 — log 20 (4) log 20
29. Twelve persons meet in a conference and each shakes hands with all the others. How many handshakes
take place? 12 W& UF WA & Haul W UHiEa @ 3|gﬁ$£ﬂﬁﬂ?¥@73mmglﬁw
gy faa & &7 (1) 66 (2) 72 (3) 148 (4) 132
30. A man travels uphill to city C from city B in a car at the speed of 40 km/hr, and returns to city B at a faster
speed of 60 Km/hr. What is his average speed for the round trip? T wigHt T C & gL B aors ae T8 #
m‘-ﬁmﬁmﬁmkmmﬁﬁmﬁw?mﬁnkmwﬁﬁﬁnﬁﬁ;ﬂmm IHF HET
T am A T A Ate A F 2 (1)0 (2) 48 Km/hr (3) 50 Km/hr (4) Data insufficient/3rgaTca HTHST

31. (7+14421428........0onn +700) is equal to : (1) 35350 (2) 42714 (3) 49420 (4) 56707
32. In a group of 5 persons, P is taller than Q, but is shorter than both R and S. Both R and T are taller than Q,

but shorter than S. This implies that/s =@f¥ad) % #g #, P, Q # 5w ¢, af%a R @ S Q=1 & aer g, R 4@
T.Q @ @3 & fheq S @ oW ¥ 39 A@ea § o (1) Ris taller than P, but shorter than T/ R, P & asueE §
g T & @ter § (2) Tis taller than Q, but shorter than R/ T, Q & @31 ¥ g3y R @ @@ g (3)Ris taller than Q,
but shorter than T/ R, Q@ & @31 g oT T # o ¢ (4) S is taller than T while P is shorter than RIS, T & o=
97T P, RA B &

33. In a group of Army Officers, 02% of Officers neither take Coffee nor Tea, while rest of them take either Tea
or Coffee or both. If 60% of Officers take Tea, while 58% take Coffee, what percentage of Officers take Tea but
do not take Coffee? ¥a1 & ¥O®NT F vF FHE & 02% &1 &I ¥ 3 @ 9@ arh @ @ T A B
ara i3 ¥ @ gmard O Y § A 60% T A g 58% 1T 9 B, & ¥iueRE & e vfowe =
drar & 3t srh ad e (1) 02% (2) 20% (3) 40% (4) 6O%

34. The original name of Ho Chi Minh, the President of the Vietnam Democratic Republic, was Nguyen Van
Thanh which he later changed to Ho Chi Minh before becoming the President. The literal meaning of Ho Chi

Minh is/at.d fieg, Rgas® TORSE & g9y &1 SR § FHA AH OA T UGE WS FGA FH
tezafa @ & 98 1. free @ o g ) s & ega 3Y FT 2 (1) He Who Leads/St Aea &

(2) He Who Fights/ail @=% #T  (3) He Who Enlightens/st 114 & (4) He Who Protects/S 181 &

35. In which year, Mahatama Gandhi travelled ta Champaran in Bihar to inspire the peasants to struggle
against the oppressive plantation system? HgTeaT ameft o g of A REgR § TURU S AR # Ao 7
yearaR ot % g & R & & Qe afe i (1) 1914 (2)1915  (3)1916  (4)1917

Numeram.r of g fraction is increased py, 60%, ang at the same time its dl:“huf-p( s Tenieaped B
The new fraction i/ @& 71 & 3y o B0% § g R ST & W 3wk GUW! 60% wrer e el @ -

LT G -



Blaswy - (1) Nagpur reginnfﬂm*cjr? T {2} Madras region/H aE HWaa
(3) Surat region/HIa Iaw (4) Calcutta regionf®teraran Haa
38.DrB R Ambedkar clasheg with Mahatma Gandhi at the 2™ Round Table Conference demandingfm.mjﬂ'
mmw_t%wmmm¢mmwﬂmﬁmw
(1) Reservation for Dalits in Government jobsiyrarl AtFfat #F zfa wmemr (2) Reservation for Dalits in
Ministries/s=rarag) ¥ af@a ameayor (3) Separate citizen status for Dalitslefaal & fyo HeTm amnfsd =1 23

(4) Separate Electorate for Dalitsfeforat & fao quF Hcar
£ . _ : i
50 sean e &t wrestling match in Bombay's Hanging Gardens was shot by Harishchandra Bhatwadekar, & it

became India’s first movie. It was shot in the year/ FRRTw adawy 3 #ag ¥ ¥ amEa @ el & v e
Wﬁwﬁ?ﬁﬁa%m,mﬂnﬁ#w&mﬂpﬁrﬁmwmnﬁw

(1) 1_395 (2) 1907 (3) 1913 (4) 1925
40. Which famous leader once said, “we would not have made economic progress, if we had not intervened on

€ noise you make, how you spit...” f&a &% g a1 2 I8 &ua =y
Wmmmm.ﬁman*mm#nﬁmm:ﬁmmahm
WM Fd & T g A 8.7 (1) Adolf Hitler, Germany/s#=h & vstew f&eaT (2) Ho Chi Minh, Vietnam/
froaarm & 8 <t fA=w (2) Mussolini, Italyfzeesh & ﬂ"ﬂ‘fﬁ-’ﬁﬁ (4) Lee Kuan Yew, Singapnrefﬁifm'{{ F o faﬂ" g
41. Who brought the printing Press for the first time to India in the mid-16" century ? HZOT IF H HRA H
Hiogd! @) & #Hvw A ggd AW w= q@o (1) Dutch cloth merchantslgTats & @ust eqmrf (2} British traders/
faes & =zmorh [Etlj Portuguese Missionaries/Terared! Pl (4) Arab manuscript writers I3 gusfa® s

42. Measures in India to impose censorship on printed material were initiated in 1798 by the East India

Company. It was directed against/$¥z 3247 #7=h & 1798 # At wEEh gy ofdar @ fd @ FEH Iow

T ag FgHA FE @A F A 42 (1) Bengali social reformers/aama & #mE Y= HURF (2) Englishmen in
'} 1

Indial$a & 3T HAS T (3) Bengali writers/anmel Sw@s (4) Indian Princely States/sftw andt o=

43. Munshi Premchand was born in 1880 and died in the year 1936. His best-known literary work, ‘Godan' (The

Gift of Cow) was published inff2ft d3ge &1 s=# 1880 & I 3N Qe 1936 | I9H MRy mafa

aifigfoas A em Fa af gwrfag £ 9 (1)1920  (2)15934  (3)1936 (4) 1942
aifd gur few sfos BfY 7 egmem w0

- ring early Vedic age prohibited/df2® @ 3
%;h;{z;;';:ﬁten;;ﬁmj fastz dining.’g_rlam FEHT  (2) Inter caste marriages/Wasidra faw
(3) Both/z¥AY (4) None of these/®1$ ad)
45. In which year, Thums Up, one of India’s ﬂ" eat brands, which was sold to Coca-Cola a few vears ago, was
launched? “¥FH 9", mﬂrﬁﬁ?-ﬂmhmmmﬁﬁm}mﬁmﬁm' ac fw ot
A A g3 AT (1) 1947 [2) 1958 W (3) 1979 (4) 1991 .
45..-.;nfhﬁ¢h among the below mentioned Upper Palaeaclithic p_"ﬁ“‘-‘ff'i_ﬁ India is wrongly matched with the state it
is located in? R 7T Sfamsr a1 & qafig avt & sy wﬁ#ﬂmwa W e g7
(1) Bnimbetia, Madhya PradeshATmEcaT, TSR (2)OSSShers, Andvr pragecyaer o i <2
fa}wﬂﬂw Maharashtral/gsi#ana, g (4) Singh Bhff}i!i'ﬂi:n'a'chal-.i?mdeshm-a{ﬁqr, Ramaw v
e DS * Bes the story of the Bikth of which mythological charecter? wrfere




49. In which among the following cases, the sy,
of the Constitution? 37A ¥ Fa wwyor ey

f Madras/ T Te=y 1 HA o7 atw Rgea
1) Gopalan vs. State D_ TTH Herw s LA Sy vy
£3: Keshvanand Bharati/Fai=ea MR geor 12) Golak Nathfas amy YT

" A (4} Miner ;
50, The 52"° amendment to the Constitution of India is most closely :‘i TI:M’ -T‘:"H—{HT ﬁw S
- ’ ated tof g w#Fawurs :
paa @eteud &7 (1) Extension of Reservations in Government jobs/ i H1 52 =71 FWapwug
=ty . . ent o k) ;q*l!] ﬂa‘[ﬁ -3 HTT
() Provision for SEGE LA TaLUS 10 Trlpura% F Raw gy oy I WTaHTH (3) Provisions fo o LU
g T . 3!ﬁr 1 rInC!Easing age of
bility for thIﬂEm + SR T 3Ty Hra FETY T Ee o
e gfaray : & (4) Provisions against political defect;
ehaE gu-Egd 91 &1 TS ions |

51. Which among the following political party of India has

a i Wasl
symbol of Republican Party of USA? 3381 ' fry 1 '&l;ﬁT?ﬁﬁn trrﬁEiE{::n b s E;Etiﬂﬂ
Tma g Ed Fa I WA
qahfas ardt F g @eE F SR 22 (1) Samajwadi Partylaareramd gy e

(2) Bah-ujan Samaj PartylgEws
3) Janta Dal (United)/si=ren & (H !
HATA Tt (3) :I {FEEFH} (4} Telugu Desam Party/3a3T &ersy arét
52. How many members, the President of India can nominate to Lok Sabha & R _-:.35 i .
geeufa, wA: Fdd #GET J@1F @0 G Uod #91 & fav amfxy T THS 3o ajya Sabha, respectively?
(1)12,2 (2) 2,12 (3) 2, 10 (4) 10, 2
53. Which among the following amendments to the Constitution of India, desi i - -
L : g gnated Delhi as National Capital
Territory (NCT)? @ ®fawma watuar @ Rech &) =87 ooursh 8 A frar
(1) 63rd Amendment Act/83 a1 HMTer= FHTefet (2) 69th Amendment Acu69 ai waiw wem
{3) 74th Amendment Act/74 a1 FIMUS FHTA (4) 76th Amendment Act/76 ai BRI FIA
54. 0On 29 August 1947, the Drafting Committee for Indian Constitution was appointed, with Dr B. R. Ambedkar
as the Chairman along with six other members. Who among the following was not the member of the Drafting
Committee? 29 ¥9Fd 1947 &1 @fau 1 J@= @AF 7137 # 1 HaF syemer St T HITHET T I
8F He+g % saA @ =+l 5w #fATY F weEm ad U2 (1) N. Gopalaswami AyengarlN FaTEEl wOmTT
{2) Jawahar Lal Nehru/sagy &Td g+ (3) Kanaiyalal Maneklal MunshilF=2aTam AT HaTH I_T?!ﬁ (8} Aladi

Krishnaswamy lyer/3read) Feorranh 3z

55. Part IM of the Indian Constitution deals with Directive Principles of State Policy. This feature of indian
Constitution was influenced by a similar feature offstcfra #fawa & sV & ow & Hfa s e
afttd 1 St #laus f ag @ e & e 2y & d@fue @ 9Re T wafa B

(1) Canadian Constitutionfs=T3T {2) Australian Cun5titutinn!$T‘Fx_‘._fﬁ’v’l1ﬁ

{3) American Constitution/3r@{1aT (4) Irish Constitution/¥TaTss
56. Which among the following schedules of the Indian Constitution deals with Forms of Oaths or

Affirmations? sRefta wfaum & Bw gt & “egy 7 g9y o F wwew RF aw §2 (1) 2" Schedulelg@dl TA
(2) 3" Schedule/dfa® §=ht  (3) 4™ Schedule/stf H=h (4) 5" Schedule/aTadl {1

57. Which of the following is not a constitutional provision relating to Governors of States? =& & FlF &
Tdl & IvauTal ¥ wala gduifrs gy “¢! &2 (1) Same person can be appointed as Governor for two or
more States/U% & =nfFd & QY a1 58T+ gogarad Agsa Far 51 @6 £ (2) He shall be appointed
: T : he
by the President/as wrezafr zamq g% @ smoam (3) He shall hold office during the pleasure pEd

Al ) T wia @ Sarle TEar (4) He should have completed the age of 25 years/a& 25 s
# SAE A I & @ aie

58. Which Article of the Indian Constitution deals with special provision with res

Maharashtra and Gujarat? smeeftar Faus & g FAOE F A AT FERT i’

pect to the States of

ool @ watewa R

VRSTH S SRR (1) Arsice 3701378 370 (2) Article 371/3r=8% 371
e FLEW o e i N e . % 71-B
o BrAride 371 Ay 371-A (a) Article 371-BISFTEOT 3770 L
onstitution provides f ' 3 d security. Which of the

59, |ﬂdiin.k =

YT e . tbﬁ'ﬂ | peace an .
deals with this n? 3m e ?wp = e w w1 S ¥
ﬁé G - A=y ifd A E 51 thﬁ*m

%{'32-;", B RIS i nciples of the State Policy/3T
efire fAgwa IeA1@d © (2) Itis implied by the Preamble of the Indian Constitution/mzaraan # ug @fka &

th . i 2 - ¢ ¥
1 (3) The 12" Schedule of the Indian Constitutionfwfaura #1 12 Th # (4) Article 392 empoiwers the
president in this regard/H=<¥g 392, eofay s gg sfag 27 ©



0. Which Article of the Indian Constitution defines the Original jurisdiction of the Supreme Court? HIGAT
#faU™ F Fl FAEDT Faled AT & A7 yfrww gy 7 o s

(1) Article 129/3=8 129 (2) Article 130/3=[e8& 130 (3) Article 131/3 =8z 131 (4) Article 132/3r720% 132
g1. Government of India recently announced constitution of NITI Aayog as a ‘policy think-tank replacing
Planning Commission. NITI stands for/gTd & & $iRa gFR W TS WO FY UH Fﬁﬁ?! iﬁuﬁn FFIHT-I‘ *
w9 # NITI & & a1 | 7fsa B &1 59 gy & CNITH F1 G A 41 §7

(1) :atfonal !n:stlltu_tmrq for Transforming India  (2) It is not an acronym, but only a Sanskrit word for Policy
(3) National Initiative for Technological India (4) New Initiative for Transforming India
62. The power to promulgate ordinances during recess of Parliament is vested withl. H&e & FIEAAE & FAT

WY J{1 14 ) ufF7 Fwd AT 27 (1) The Council of MinisterstaBrafisg

(2) The Parliamentary Standing Committee on Urgent Enactmient/3rearasrs ag 4 Aurh #f&fd

(3) The PresidentRmszafa (4) The Primée Minister/gtm &t
63. In Alternating Current (AC), the direction and magnitude of the current varies/Hraedl Tﬁ'r:?iﬂ U A 'ﬁ'ﬂ:ﬂﬂ'
Far 1 R 3N GRETT aged wd &1 A% gRads: (1) Randomliyfag-dar g & (2) Periodically/fAfEd
FeaUw & @15 8101 & (3) Exponentially/aTd V-6 & gl ¢ (4) Do not varyfRwsd ¢! I&ed 3
64. Albert Einstein received the Nobel Prize for Physics in the year 1921 for his work on/3a@¢ HrgaEdE #
Hifd=T 1 F&ae TFPR 749 1921 # 3% fra Qv & T f@er w? (1) Mass energy equivalence given by
E=mC /A3 GHTEAT & FAFTT E=mc’ ¥ AT (2) Hydrogen Atom/EREFA T ¥ SN o faw
(3) Theory of Relativity/ #Tdarar fgid & @7 (4) Photoelectric effect/mrel-sdiFes axE & v
65. Sir C.V.Raman received the Nobel Prize for Physics in the year 1930 for his ground breaking work in the
tield of [HT &A@ d%ec THT &1 1930 ﬁﬁﬁrﬁmaﬁﬂwmﬁmm*ﬁuﬁmwh

(1) Brownian motionfaTsfame aifd  (2) Scattering of light/S#131 fagva & AT

(3) String Theory/&&ar a1f (4) Nuclear Physics/=nfadra sitfah
66. Which of the following Indian nationals has been the recipienf of ﬁamur:t Magsaysay Award for Community
Leadership? 378 & fFw seftr & Yo AT AR FHEa® Aqed & A ared

(1) Arvind Kejriwall 3cfag Foritar (2) Kiran Bedilf&yor 4¢
(3) T.N.Sheshan/ & a1 8 (4) Dr.M.S. 5wam|natha nf3T.UH UH FaTHATE

67. Which of the following awards Satyajit Ray received pnsthumnusiv’ ﬁfﬁnﬁ?f A F FE [TEHR Feaold
77 # mohaGs Fer? (1) Dada Saheb Phalke Awardfiwal FRE BT W (2) Ramon Magsaysay
AwardftFR #ANAY WEFH (3) Bharat Ratna/®Rd T (4) Honnraw Dscarfﬂmﬁ HFRT
68. In which individual event, the 1° Olympic medal for Independent India was won at Helsinki Olympics?
mm#mﬂmmwmeﬂwW

(1) ArcheryfdriErsht (2) Boxing/AFFA  (3) Wrestling/®  (4) Weightlifting/siRTca e
69. The Gini Coefficient is a measure of/fiTefl Fvra g @ BE AT R

'[-'l!l Eudent p«pu!atiod@'i £ FewrEn  (2) Migration rate of Guineas nationals/frams arfya &1 yaer &

W iwfm'*f JrgEaT () Ratic of coinage to currency notel/fF=! 3R A F IAw
ing indices s not considered while calculating Human Dﬂelapmem index (HDI)? g

LR T g
]

'*w#mmw’*

: ﬁﬂﬁ"‘l‘ | {4! Income/3Td

ni:m Gﬁwemment came from
IraFy § wfod ofr &1



85. In his youth, Adolf Hitler aspired to be a/an, TIF® Eee, o= TATTEYT & FIT a4 B TEA W

(1) Architect/aFdsR  (2) Painter//Ma&  (3) Singer/@T@%  (4) Footballer/fead & f@wE

B6. Many of the famous political leaders had a University Degree in Law. Which of the following world leaders
didn’t have a Degree in Law? FgaY TeNfasl & & fraficama ® suf urs o) A% @ e & &F
A9 & U FA Y IO gt o (1) Nelson Mandelalfiesia #3am  (2) Fidel Castro/fhSd F

(3) Barack ObamaleU=F rarar (4) John F Kennedy/5iTsl T Fag

87. Ernesto Che Guevara, the famous Marxist revolutionary of South America, was born inlziETT FAtE &
TS re FifaFd A o A0 F F=w g gan? (1) Boliviajiferfaa (2) Cubal#ga

. (3) Argentinal3st=EraT (4) Guatemala/FaTeHTel
88. Charlie Hebdo, the French satirical weekly, first appeared in 1970 as a successor to another French
magazine that was banned for mocking the death of former French President Cha (les de Gaulle. What was the
name of the banned magazine? d # TWIWUEH FTANESH THEF], TR F=al FT grFs 1970 3 g3 il
'mm.ﬁmﬁﬁmmhmmm Irﬁnmmg,mﬁwﬁir@qﬁ?mﬁramﬁa:ﬁ

9y ITEH F 9Y wiaEtaa R o an (1) Le Mondef#1 #T3 (2) Hara Kiri/gr1 i
(3) La Croixfen ®1gFa (4) Humanite H‘Ebdﬂm &=l
89. Vasant Govarikar, who passed away recently, was a famous personality in which hEId?m "
e @ A &pi g, A BRw A A 9 W (1) Literature/afeeT (2) Space science/FIH HIF
(3) Classical music/amEsia w3 (4) Cinema/ =1

90. Who is non-member who can participate in the debate of Lok Sabha? | s A Q B A FH BFEE
a8 ge M ol # sT @ ®EAT 2 (1) Vice President/39 Tregdfd (2) Chief Justice of Indial¥d ¥ HEA
=gramiier (3) Attorney General of India/®Ra & sgftra#ar (4) None of the abovel®TE A&
91. Which of the following is the wrongly matched word-meaning pair?

(1) Indict: Accuse (2) Onset: Beginning {3) Recite: Propose () Temerity: Boldness
92. Which of the following sentences is grammatically correct? (1) Either he or | am mistaken

(4) Let youand | doit.
93 Which of the following word is closest in meaning to the idiom, “cast down”?

(2) He gave me an advice (3) The sceneries here are very good

(1) Humiliated (2) Defeated (3) Depressed {4) Discouraged
94, The letter, ‘0’, in the word, ‘about’, is pronounced like letter, ‘o', in the word :
(1) Go (2) Boy (3) Got (4) Now
95. Khali was sitting on the fence, means Khali was :
(1) Living dangerously {2) Undecided (3) Stubborn (4) Annoying
96. In the sentence, ‘Don’t talk so loud’, the word loud’ is used as an :
(1) Adverb (2) Adjective (3) Idiom {4) Active verb
97. In the sentence, ‘None but the brave deserves the fair’, the word 'but’ is used as :
(1) An adverb (2) A preposition  (3) A conjunction  (4) A pronoun

98. Which of the following is a correctly matched adjective-noun pair?

(1) Restiess — Restlessly (2) Restless — Restlessness

(3) Restless — Restive (4) Restless — Restivity
99. His bad eyesight exempted him __ military service. Fillin the blank with : (1)in (2)of (3)from (4)st

100. Which of the following is an incorrectly matched word-meaning pair?

(1) Excursion — Short journey  (2) Homage — Tribute  (3) Sidekick — Close companion  (4) Intact — Tactful

r-1l_(English language
Write an essay in English language only on any one of the TONOWINE topics in not more than 400 words :
(1) Right to freedom of expression should be an absolute right (2) Inclusive Growth: A pipedream
(3) Intelligence is an important aspect of statecraft (4) "It s often safer to be in chains than to be free”
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